[
iT @ ﬁ 5_8_8 Multiplicér decimaler med ti

Navn:__ Dato:_ Score:__
5,004 x 1000 = 1,517 % 10 =
2,338 x 10 = 10,919 x 1000000 =
6,379 x 100000 = 9,428 x 10000 =
3,686 x 10000 = 4,052 x 1000000 =
6, 806 x 100000 = 3,419 x 100 =
2,267 x 10000 = 3,658 x 100000 =
9,39 x 1000000 = 7,553 x 10000 =
9,07 x 100 = 6,007 x 10000 =
6,793 x 10000 = 1,824 x 1000000 =
9,272 x 1000000 = 3,503 x 10000 =
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iT @ ﬁ 8_%8 Multiplicér decimaler med ti

Navn: Dato: ___ Score:___
5,004 x 1000 = 5004 1,517 x 10 =15.17
2,338 x 10 = 23.38 10,919 x 1000000 = 10919000
6, 379 x 100000 = 637900 9,428 x 10000 = 94280
3,686 x 10000 = 36860 4,052 x 1000000 = 4052000
6, 806 x 100000 = 680600 3,419 x 100 = 341.9
2,267 x 10000 = 22670 3, 658 x 100000 = 365800
9,39 x 1000000 = 9390000 7,553 x 10000 = 75530
9,07 x 100 = 907 6, 007 x 10000 = 60070
6, 793 x 10000 = 67930 1, 824 x 1000000 = 1824000
9,272 x 1000000 = 9272000 3,503 x 10000 = 35030
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